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UIZ NO. 3

Mechanical and Thermal Axial Deformations
Due: Saturdaz, October 6, 2001

The rigid link CAD is pinned at A and is loaded as shown in Fig. 1 below. If the area of each cable
is 0.0125 in®and the temperature is reduced by AT = 10°F:

1. Determine the stress in cable at C.
2. Determine the final length of cable at B.
3. Determine the mclmatzon (in Degrees) of the rigid link CAD.
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Score: A
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Note: You have used temperature increase not temperature reduction. Also note that 

Lf = L0  + l
